GATITU SECONDARY SCHOOL P.O. BOX 327 GATUNDU
FORM 2 MID TERM MATHS EXAM 2012

Name MWW\?’C, SC/\W/ ADM cLAss__)

INSTRUCTIONS.

Answer all the questions <7< showing all your workings below each question.
1. EFGH IS ARHOMBUS AND TRIANGLE DEF is equilateral. CalculateZHDG given that LHED = 18°
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2. Draw a circle of radius 5scm. mark off point AB,C,D,E and Fon the circumference of the circle
such that AB= BC=CD=DE=EF=FA=5CM. Measure Z BCD, £ ABC and{CDE. What type of
polygonisABCDEF. (6MK$)_ .
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3. Use a scale of 1cm to 60m to draw the map of the farm whose measurement are shown in the
field book below with a base line AB = 600m.
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-1 Calculate its area in hectares. {10mks)
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4. Us e reciprocal tables to work out
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5. Simplify
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b) rs® x s x S
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6. Use the tables to evaluate.
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7. Find the number whose logarithm to base l10 is.
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4 Divide the following logariths by 12,113, 4

a) 2.9754 (3mks)
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